
DGS Sparte Dart

7.DG Senioren Doppelmeisterschaft

Gruppenspiele 

Gruppe A  Sätze Dif. Pkt. Platz Paarung

A 1 Maßnick/Hedder (FR/SL) 7 : 4 3 9 3 A 1 - A 2 Maßnick/Hedder (FR/SL) - Naab/Thies (OL) 2 : 0

A 2 Naab/Thies (OL) 3 : 9 -6 3 6 A 3 - A 4Wekkeli/Luttmann (SM/BIT)- Sommer/Wrobel (SM) 2 : 1

A 3 Wekkeli/Luttmann (SM/BIT) 9 : 5 4 12 2 A 5 - A 6 Aukam/Seidel (BS) - Wagner/Herberts (TR) 2 : 0

A 4 Sommer/Wrobel (SM) 6 : 7 -1 6 4 A 6 - A 1 Wagner/Herberts (TR) - Maßnick/Hedder (FR/SL) 2 : 1

A 5 Aukam/Seidel (BS) 8 : 4 4 12 1 A 2 - A 3 Naab/Thies (OL) -Wekkeli/Luttmann (SM/BIT) 1 : 2

A 6 Wagner/Herberts (TR) 5 : 9 -4 3 5 A 4 - A 5 Sommer/Wrobel (SM) - Aukam/Seidel (BS) 1 : 2

A 1 - A 4 Maßnick/Hedder (FR/SL) - Sommer/Wrobel (SM) 2 : 0

A 6 - A 2 Wagner/Herberts (TR) - Naab/Thies (OL) 1 : 2

A 3 - A 5Wekkeli/Luttmann (SM/BIT)- Aukam/Seidel (BS) 1 : 2

A 5 - A 1 Aukam/Seidel (BS) - Maßnick/Hedder (FR/SL) 0 : 2

A 2 - A 4 Naab/Thies (OL) - Sommer/Wrobel (SM) 0 : 2

A 6 - A 3 Wagner/Herberts (TR) -Wekkeli/Luttmann (SM/BIT) 1 : 2

A 1 - A 3 Maßnick/Hedder (FR/SL) -Wekkeli/Luttmann (SM/BIT) 0 : 2

A 2 - A 5 Naab/Thies (OL) - Aukam/Seidel (BS) 0 : 2

A 4 - A 6 Sommer/Wrobel (SM) - Wagner/Herberts (TR) 2 : 1

Gruppe B Sätze Dif. Pkt. Platz Paarung

B 1 Dargatz/Stelzer (HN) 5 : 5 0 6 3 B 1 - B 2 Dargatz/Stelzer (HN) - Herzog/Götzen (BS/BI) 2 : 0

B 2 Herzog/Götzen (BS/BI) 5 : 5 0 6 4 B 3 - B 4 Schulz/Knickelbein (SL) - Schauer/Henselmann (FR) 0 : 2

B 3 Schulz/Knickelbein (SL) 5 : 5 0 6 2 B 4 - B 5 Schauer/Henselmann (FR) - Beder/Wendisch(DD) 2 : 1

B 4 Schauer/Henselmann (FR) 6 : 4 2 9 1 B 2 - B 3 Herzog/Götzen (BS/BI) - Schulz/Knickelbein (SL) 1 : 2

B 5 Beder/Wendisch(DD) 5 : 7 -2 3 5 B 3 - B 1 Schulz/Knickelbein (SL) - Dargatz/Stelzer (HN) 2 : 0

B 5 - B 2 Beder/Wendisch(DD) - Herzog/Götzen (BS/BI) 1 : 2

B 1 - B 5 Dargatz/Stelzer (HN) - Beder/Wendisch(DD) 2 : 1

B 2 - B 4 Herzog/Götzen (BS/BI) - Schauer/Henselmann (FR) 2 : 0

B 4 - B 1 Schauer/Henselmann (FR) - Dargatz/Stelzer (HN) 2 : 1

B 5 - B 3 Beder/Wendisch(DD) - Schulz/Knickelbein (SL) 2 : 1



Viertelfinale Halbfinale  

A 1 Aukam /Seidel 2
B 4 Herzog/Götzen 0

 

Aukam /Seidel 3
Maßnick/Hedder 2

B 2 Schulz/Knickelbein 0
A 3 Maßnick/Hedder 2

Finale

Aukam /Seidel 0
Wekkeli/Luttmann 3

A 2 Wekkeli/Luttmann 2
B 3 Dargatz/Stelzer 0

Wekkeli/Luttmann 3
Schauer/Henselmann (FR) 1

B 1 Schauer/Henselmann (FR) 2
A 4 Sommer/Wrobel (SM) 0 Spiel um 3.Platz

Schauer/Henselmann (FR) 3
Maßnick/Hedder 1
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